
Soluzione: R3 = 667 Ω , W3 = 0.0234 J .

Soluzione: Δ ε x = 25 mV (con galvanometro), Δ ε x = 0.3 mV (con voltmetro)

Soluzione: R1 = 50.1 mΩ , R2 = 0.451 Ω .

Soluzione: Δ ε x = 40 mV (con galvanometro), Δ ε x = 0.3 mV (con voltmetro)



Soluzione: Δ V sens / |V eq AB| = 1.60 * 10 - 4

Soluzione: R1 = R3 = 40.9 Ω , R2 = 10.1 Ω .

Soluzione: V(t 1) = 5.51 V, V(t 1 + t 2) = 3.29 V.

Soluzione: rapporto = 0.245



Soluzione: VC1 (t 1 + t 2) = 3.71 V, V 1f = V 2f = 1.73 V, E d = 2.99*10 - 5 J.

Soluzione: R e max = 188 Ω , W max = 2.52 mW.

Soluzione: t max = 9.37 s, V C (t max) = 6.63 V, V C (2t 1) = 1.93 V.



Soluzione: i = 1 mA.

Soluzione: R 3 = 10 Ω , R 2 = 90 Ω , R 1 = 900 Ω .

Soluzione: t 1 = 3.14 ms, t 2 = 6.28 ms, t 3 = 9.43 ms, VC (t 1) = 3.85 V, VC (t 2) = 0.291 V, V C (t 3) = 3.58 
V.



Soluzione: Δ R x / R x = 0.78 p.p.m..

Soluzione: i (t 1) = 28.5 mA, i (t 2) = 25.4 mA, i(∞) = 22.2 mA.

Soluzione: Δ ε x / ε x = 4.80 * 10 - 4,  Δ R x / R x = 1.74 * 10 - 3 .



Soluzione: R c = 158 Ω .

Soluzione:  Δ ε x / ε x = 6.46 * 10 - 4


